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T3 H. Optics (Second Pa;?er) M.M.50
qrT-3 PART-A | aifaqeh fereg 0 2ld & ™, What are aplantic points ?

2 1 1 ot frqursy T & ? Whatig'meany by chromatic aberration ?

3 T Hrhoel & adr@d | Define Temporal coherence.
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B. Sc. (Part I) PHYSICS, 2013/3

Define interference due to an infinitely this film.

5. HH Hrers i B 1 7 a7

Explain the term equal fringe thickness

6.2 7 R & & i e |

What is two difference between ! nterference and diffraction ?

7 ISR & s arar o @t fafa |

‘Express resolving power of Telescope. ‘
8.3 9l frie &arel 7 8 What is Rayleigh's criterion of resoltlon 7,

0 T g TS Fheealt H e Ty |
Distinguish between negative and positive crystals.
- 10.9qsleT e 41 & ? What is quarter wave plate ?-
| -9 PART-B
T L. (o) e S 7 3 We Faegat o oo GfT 1 <erig R A e o o
% A1 &K o & e A A o B e farg e e g EOm 8 T (A)

Define the cardinal points of a lenis system. Show that the prmmpal points
coincide with nodal points of a sens system when the medium is same on
both sides of the system. ' agar /OR

()wﬁﬁﬁmaﬁmamﬁﬁwaﬁﬂ%ﬁm | |

(B) Describe the construction and working of Hugen's eye piece.
ﬁéﬂ.(@)wmﬁﬁwmﬁmﬂmﬁw@ !
- (A) Explain interference due to reflected rays in this film. &z /OR

(&) TR ARTEHTTHI %l T d BT Pl qU BT |

(B) Describe the construction and working of Michelson's interferometer.

gL (oF) STasiiuv, T&x: T JaIT S & THeARY | STEHeld & Joridh J
I5 =T Wd HIRY(A) Define’ absorption, spontaneious and stimulated
emission. Express realtion among Einstein co-effeicients. o /OR

(=) ST <ie &1 A @ HRATOT TSy |

(B) Describe construction and working of Zone plate.

@RIV, (¥ )meﬁiﬁfﬁﬁiﬁaﬂ@wmzﬁmam%
yferere i e HINTT |
(A) Give theory of concave reflection grating and deduce the condition
of focussing the spectra. e /OR
(@) & wremE #fE #5000 @ sfa SR ¥ wm w o
Sfrererae STaf & | @ﬁﬁﬁ%@mﬁﬁ@ﬁﬁm%@ﬁaﬁwm
1 ST hiford |

(B) What is the longest wavelength that can be observed in the fourth order
for a transmission grating having 5000 lines/cm ? Assume normal incidence.

wrd V. (37)mebnei ot & e et & vt bt et T 1 goie bt qmet g1
frsfxar &1 @ #IST 1(A) Explain Fresnel's theory of optical rotation.
Discuss the dependence of rotation on wavelength, 34T /OR
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4/ B.Sc. (Part ) PHYSICS 2013

Y1 # ? (B) How would you distinguish between : Clrcularly polarised
light and unpolarised light and circularly and elliptically polarised light ?
- PART-C 1.(31) (i) 5% 4 (ii) B T T @ & ol & FH § i 8
R sftrerer cpr Feerert sBifore 1 (<) & wTer Il S T bl B IRAT 30 8f. 7
L0 ¥ 1 5 e &1 gl 209701 B 1 o) | G 40 BT B TH W= 8 4

(i) wfafer= @1 fRarfer (i) e famgatt @ (iii) wepd fargatl ol Rl S0 &0 9 o
o=t gl | (a) Obtain the condition for achromatism of two this lenses of

same material placed (1) in contract, and (ii) at some distance. (b) Two thin
converging lense of focal lengths 30 cm and 10 cm are placec coaxially 20 cm.
An object is placed at a distance of 40 cm from first -~ lens. Calculate the
position of the (i) image (ii) principal points (iii) focal points. Indlcate these
positions ina diagram.

zwﬁqmmﬁm%eiw%mnﬁmﬁ%ﬂwhaﬁﬁqw
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Describe the moethod of Newton's ring to measure the wavelength of
Monochromatic light and give necessary theory, Explain what will happen if
white light is used.

3Wmae?ﬁoﬂa?ﬁmmﬁ7&ﬁgwwmﬁmm STl BT |

Determine the intensity of light at a pomt due to cylindrical wavefront and
- half'period strips.

| 4%@%WWW%WWWW@WW | g8
fererer it fr=r 2 WERid #IT | Derive a relation for intensity distribution in

case of Fraunhoffer diffraction due to two parallel slits. Also represent the
internsity distribtuion diagrammatically.

5@@?@?&5%5@3%%3%%%@4%@%@@%%&%%%&
FAM SR BT A T g Jpiet T % TR #1 Yt e Hif wath
e, IR deed IRET i € 1 U gu e & At @ e gl sma
IS STaih. 20% SR & 81 & U Ot 26.4 °H ST 8 | 7ell @l arg 20 9.
2 | Discuss theoretically the superposition of two lineraly Polarized light

waves of the same frequency travelling in the same direction at right angles to
the optic asix of doubly-refracting crystal with their optical vectors mutally
perpendicular. Calculate the spec1f'c rotation if the plane of Poloarisation is
turncd through 26. 4 transversmg ’70 cm. length of20% sugar solution.
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